Question 19 19 Jlgaadt
Which addition expression faagall JEA Cam gaad) ulas gl
describes the model?

6 + 17
100 100

60+ 17
10 100

6 3 17
10 100

6 +17
10 10

Question 20

20 il

An AED 5 banknote was used to

A5l AED 5 &b dai 43,9 cuaasiod

Determine the change. caghlal) dd)yuall ads
A AED 2.65
B AED 2.75
c AED 3.65
D AED 3.75
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Question 21

21 Sl

Round 5.478 to the nearest
hundredths.

o0 o il ) 5.478 @dall sl B

-ada

A 5.4

B 5.47

Cc 5.48

Question 22

22 Jipd

Round each decimal to the nearest
ten. Then add.

28.89 + 10.76 =

e il ) e 22 U5 o3
et
28.89 4+ 10.76 =

A 30

N i

B 40

C 41
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Question 23 23 Jlgeadt
Jamal bicycles for 14, 6 kilometers fhagls 14, 6 ddlcal dafall Jlaa ods
and takes a break. Then he bicycles Aa); 33l

for 12. 7 kilometers.

How many kilometers has Jamal

cSliaghs 12,7 Ablucal dafall 39d &5
dalall Jlaa lgakh Al Syl gl 38 a8

bicycled in all? laal
A 2.1
B 2.73
C 26.3
D 27.3
Question 24 24 Jljaad

Which number sentence represents
the Commutative Property of
Addition?

Stean) b sl s i s A o

A |]89+01+3=(89+0.1)+3

B 2.9+0.1=0.1+2.9

C | |25+8.9+0.1+3=25+(B.9+0.1)+3

D 1.94+0=19
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Question 25 25 Jlgead)
Hessa’s baby sister weighs 3. 64 3. 64 dapal) das d235 A< 313
kilograms. cilalaslis
Her newborn kitten weighs 0. 18 phasks 0. 18 Gpas Saglaal L AL,
kilograms. AliS o dapia))) duas A4kG ALS W3 S
How much more does Hessa’'s baby flgim

sister weigh than her kitten?

A 3.46
B 3.56
c 3.72
D 3.82
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